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1. Write down limitations of python.        1 

2. What do you mean by free and open source language?      1 

3.  what will the following code do: a=b=18 ?       1 

4. What are literals in python?         1 

5. What is the difference between compiler and interpreter?     1 

6. Write a program to take the input of students information and display it.   1 

7. What is the output of following code:        1 

Name = “Neha” 

print(“Name”) 

8. What is the error in following code: x, y =7 ?       1 

9. What are the rule for identifiers?        2 

10. Write a program to calculate simple interest.        2 

11. What is the difference between an expression and a statement in Python?   2 

12. Python is free and open source language. What do you understand by this feature?   2 

13. Define Demorgans both laws.         2 

14. What are tautology and fallacy?         2 

15. Draw two gates which used in circuit diagram.       2 

16.  What are operators? What is their function? Give examples     3 

17. What is the difference between RAM and ROM. Write with the help of suitable examples? 3 

18. Keshav spends to much time on internet. Explain him some side effects of spending too much time 

on computers?           3 

19. Prepare the truth table for a.  X+(X.Y)   b. X’ + Y’      3 

20. Convert the given numbers into binary and vise versa:       4 
a. a. 4310   b. 20010   

21. Write one line for given questions:         4 
a. Why python is cross platform language. 
b. What is the need of debugger tool?  
c. Python is case sensitive. How? 

22. Write a program to display area of rectangle and area of square according to user’s choice with 
multiple if statements.           4 

23. Draw a logic circuit digram and truth table for ab + bc + ca’     4 
 


